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(15x 8) — (7% 2) = 120 — 14 = 106( m?) = 1060000( cm?)
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800 cm — 8m
5><8=40(m2)
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1m = 100cm
24 1m? = 1m X 1m = 100cm X 100cm
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(1) 9ha = 90000 m?
(2) 5km? = 5000000 m?
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1km? = 100 ha = 10000a = 1000000 m?
(1) 14a = 1400m? = 0.14 ha
(2) 20.3km? = 2030000 m? = 20300a = 203 ha
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@ 12ha = 1200a = 120000 m?

® 0.12km? = (0.12 x 1000000) m? = 120000 m?
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® 1200000000 cm? = 120000 m?

2N, O =0 =@ =0 < @YYtk




8. QO¢tl>, = <= dIA HEoA Q.
5ha (O 5000m?

> E

> &Y >

5ha = 500a = 50000 m?




9. the FNA ol g 2 AL ok 2 guk

O 4m? @ 40cm? 3)40m?

@ 4000 cm? ® 40000 cm?

&8

T 2 Q|2 1A A vt
@ 4m? = 40000 cm?

@ 40 cm

® 400000 cm?

@ 4000 cm?

® 40000 cm?




¥l 2k, obh¥le] 3km , o7} 700m ¢ Abeke] % ool
teo] lgret. o] 9] Yol ¥ ha A7) F5HA L.

_--2km -
Loy
:700m
.
T 3km-----""
p cf ha
[> ®Eh: 175ha

(24 3) x 0.7+ 2 = 1.75( km?)
= 1.75km? = (1.75 x 100) ha = 175 ha
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(A2 2] Hol)-(% 7] Helol g
= 160 x 100 — (70 x 100 + 2 + 100 X 40 + 2)
= 16000 — (3500 + 2000)

= 16000 — 5500 = 10500(m2) = 105a
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28800 + 2 = 14400( m?)
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(120 +[ ) x 180 + 2 = 14400 ,

A =40(m)
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{(25 +40) x 24 + 2 4 (30 + 40) x 26 + 2}

~(50 x 30 + 2)

— 780 + 910 — 750 = 940(m?2) = 9.4(a)
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2000 x 400 + 2 = 400000 m?
— 4000a + 40a = 100(7H)




